Interval of Convergence Power Series Day 2

General Form of a Power Series:
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Convergence of a Power Series:

Power series are only valid on the intervals for which they converge We define the followmg two
terms to discuss convergence of a power series. [ ) n C]-:] (\ﬁ
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e Interval of convergence (l)- range of x values for whlch a power ser|es thl converge

e Radius of convergence (R)- distance from the center, x = ¢, 10 the edge of the interval

of convergence R= | 5 Q"-ﬁ

Radius of Convergence: Let f(x) = a(x — ¢)™. The 3 possible results involving convergence of
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To find the interval of convergence, we can use the Ratio Test

e Leaving the x in the limit you get the interval of convergence

e Pulling the x out you get -}1?- where R=the radius of convergence.
2L ¥

0.0 B roc L
Example One. Using the Ratio Test: For which values of x does this function converge?
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Example Two: Determine the convergence of
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Example Four: Determine the convergence of )
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Example Five: Determine the convergence of
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Example Six: Determine the convergence of
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